FIYFEAE M
J@i+— 3,5 8+ 1,4 @+ = 4,6,9;
181U 3,6,8; 1@ H 1,3, 4.

#4179 J@+— 3,5.

3. BENLIAE X, V) BEE S E N

p(x,y) = c¢(R—+x2+y?), Hx?+y%2 <R?%
p(x,y) = 0, 4x? +y? > R?
K (1) B, (2) VLM EFELREX? + y2 < r2WHIMEE, (r <R).

5. WX, VMEGEE R
p(x,y) = Asin(x + y), i—'|0<x<g , O<y<§;

p(x,y) = 0, HAf.
k(1) 2¥A, (2) HLHE.

8427 St 1,4
1L BX, YA EMSL, BESAN px() =1, 0<x<1; pe(x) = 0, HAh.
py(W)=eY, y>0; py(y) =0, y<0. 3K X+ YL,

4. WX, YMSLFEG A, B Np(), 7 AMRECNF(C). K min{X, Y% AL

437 JH+= 4,6,9.
4. W (XX ED = {(x,y): 0 <y <x < 1} BRS040, RKIFK R Hp.

6. CVHID(X) =25 DY) =36 p=04. KDX+Y)MND(X -Y).

9. WX ~N(0,1), MY = X"(nZ1EEH). Kpyy.



%447 JHANY 3,6,8.
3. WX, Y, ZMSL RS0, IRMN(O,1), SRVX2 + Y2 + Z2 (R %

6. ¥n FUERIONM Har T, 08 HERTE N & TR T b 1. SR BRI
BTH X WM. (5 SN X, =1, i—’u?ﬁz/\m¥tljﬁﬁ< X, =0, %
FIAE TR BRHX = X, + - + Xur)

8. X THENLAERX,Y,Z, CHEX =EY =1, EZ=—-1, D(X) =D(Y) =D(Z) =

1 1
1, pxy =0, pxz = > Prz=—73

457 JE+TH 13,4
1. WX SYMEMSL. XBRMIAA DA, EX = A, YWIRMNER 6, EY = 2,. R
FEX + Y = nHSAT R HX 564704

3. WXMY#REHEHMMENAZE, EPHFEE. o) =EY|X=x), ¥PX =
x) > 0; o(x) =0, M. BIEH: XHMEMIERREY (), REEQR) FE, ©
&7
E(p(x) - V) < E@(x) — V)%
4. W— KRB R GRS M A HCE AN 1200 WIBEHIAS R, XK IX L B

T%%ﬁi&mifﬁﬁﬁmiﬁﬁ PEN 50 JuiIBEHLAS R, S OsedE— g e i e oM
BEN LR LS NSO AL, RS — R AP EE LA 2 b7



